[FrL OB AALTRYOR—ILT) —1REK

<1-2-3%>
pd X, REXS M RER
v ERAF 2154 B4 2062
F1{L 164 FRERMILA/NER 14248 136.18[H]
g6 | 184 = EMILR/INER 146148 125.33[H]
3 164 EITWHILLR/NER 14348 121.5[]
FaL | 1FE&E ETh ILHR L/ ERR 146148 118.66[]
E560 | 1E4£E RETILIE/NER 15148 113
g6 | 154 =BMILER/NER 146148 102.5[8]
£ 154 FREMILEBEF/NER 14148 101.66[H]
gL | 1HFE4&E BT HILER/NER 14248 100.75[H]
{73 PAF 24 Fik B d
B | 284% i LRk IL/NERR 24148 187.25[E]
FEL | 24 HiETh LB /NER 2EER 154[m]
FI | 2L FRETIL/\BEF /R 24248 149.4[9]
FAL | 284&E HiETILR/NER 24 149[m]
$561 | 284 = B it/ 24340 138.85[H]
F6 | 2F4E FREMILRFE/NER 24E 248 138.66[H]
FIL | 284% = EMIR/INER 24148 129.85[H]
8 | 2F4£ REMIL/\BE/NER 24148 129[H]
{73 PAE 24 Fik RO 8%
E1hL | 3F4E FREOETHILKIZ/NER 33 137[E
gL | 3FHLE HiETh LB /NER 34 136.66[]
E3 | 3FLE HiEHILR/NER 35 131.5[]
FAL | 3FEHE &)1 Th I H /N AR 3148 120[]
¥56 | 3F4LE = BHILIR/INER 314 116.16[E
$6ht | 3FELE FR{RE BT B F /MR 3FE 14 112[@]
E | 3F4E BEHEHNILTESE/NER 314 108.2[G]
£8hLI | 3FEHE FEOQETILKRIZ/INER 34248 105.25[H]

KEFEHMNELCH /T REANRVAZLEMELET . REBERELB AT SMABASENEELEELET,




[FrL OB AALGTRYOR—ILT) —1REK

<4-5-6F-FAXEFHR>
pd (¥, REAS M RER
(v SPAE R4 Fik FCE%
16 | 4F4E = BT IR /R 44248 156.6[8]
F | 4EHE = EMILRM/INERR 4148 156.33[E]
EIL | 4FEHE BRI FAR/NDNER 45148 1563
FALL | 44 =EMIIEF/NER 4148 143.66[E]
$560 | 4FEHE )1 Th S /NP 45148 140[E]
F6hLr | 4F4E =Emidb/hER 4148 139.33[E]
FML | 4FEHE i LB/ 45 135[]
F8hLL | 4FHE = EMIR/NER 4148 130.5[@]
(v SPAE R4 Fik FCE%
F146 | 5E4E BT I AK/NER 5% 141.33[E]
$260 | SEHE T IR /NER 5£ 148 139[H]
E3h | 5HELE BRI FAR/NER 54148 137[E
FalL | 5F4&E = EILIR#/NERR 54148 134.16[]
¥561 | 5E4E )| T L & /N AR 5140 111.75E]
¥ | SHELE FREMILA/NER SEE14R 111
E£1 | 5E4E RRETIL b/ N ERR 54448 105.25[]
E8h | 5HELE = BHILIR/INER SEE14R 105[]
(v SPAE R4 Fik FCE%
F16L | 6F4E = EMIIEF/NER 64E 148 151.5[]
E | 6F4LE = BT /INER 64248 151
EI | 6FEHE EMT LA EE/NER 64 348 141.5[]
Fah | 6F4E EMTILEERE /DR 6L 140 140[E]
E56 | 6FE4E = EMIR/NER 64148 137[H]
$o6hI | 6FE4LE FREMILA/NER 64240 136[E]
FIL | 6F&E FREMILAE/NER 64 148 132.5[]
E8h | 6F4LE FEOETMILK{IZ/NER 6L 140 1300
(v SPAE R4 Fik FCE%
T | BHAXZE| FEOEWIRER/NER HOHHE 122[]
FL | HHRIZIE FEDOETHILKRIZ/NER 4,548 115[E]
FEIL | HFRIZIE = EWMIE/NER 748 104[E]
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